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Analytic Geometry
UNIT 1: Use the following to review for you test. Work the Practice Problems on a separate sheet of paper.
‘What you need to | Things to
know & be able to | remember L
do LA 4 M T
A. Solve forx when | Angles add to 180° L 20400 - §O = |2

the angles are

: gy o sw5 | One angle is 12 more than twice

supplementary. '\\ Y 4= 200 | its supplement. Find both

) 30 2% - 50° X{’ },;(;gj qngles_ f g o e

3A = //5 AL SE e e
B. Solve forx when | Angles add to 50° 3. —) . 4. ? [ S P ‘?/
the angles are o 10 - B, R Loy : vy i7
complementary. - e 3x +10° and 2x - 5° are
/jg ' ,,y oo -complementary.  Solve for x.

C. Recognize and
solve vertical angles

Set vertical angles
equal to each other

D. Name and solve
problems involving
angles formed by 2
parallel lines and a
transversal.

Consecutive Interior
angles are
supplementary.
Alternate interior,
alterpate exterior, and

corresponding angles

are congruent.

Y

33°

A

A




Analyfic Geometry

E. Recognize and
solve midsegment of
a triangle problems

A midsegment
connecting two sides
of a triangle is parallel
to the third side and is
half as long,

F. Recognize and
solve tnangle
proportionality
theorem problems

If a line paralle! to one
side of a triangle
intersects the other
two sides of the
triangle, then the line
divides these two sides
proportionally.

G.Solve for x in
problers invelving
the sam of the mterior
angles of a triangle.

The interior angles of
a triangle sum to 180°.

H. Solve forx in
problems involving
the exterior angle
theorem.

The measure of an
exterior angle of a
triangle equals to the
sum of the measures
of the two remote
interior angles of the
triangle.

1. Recognize and

If two sides of a

ASA, AAS, HL

solve problems triangle are congruent,
involving the then the angles
congruent base opposite those sides
theorem are congruent.
J. Name 25. AABC = AFEG 26. AABC = AFEG
Corresponding Parts ' . '
of Triangles. CA = G r JGEF = ﬁ &
K. Determine if two Remember the 5 217. 5 ﬁ ( 28. C’,» <
triangles are ways that you can e

| congruent. do this: SSS, SAS,
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CCGPS Geome‘rry EOCT REVIEW 1 - Similarity and Congruence

Narme: Dale:

MULTIPLE CHOICE PRACTICE

Figure A'B'C'D'F is a dilation of figure ABCDF by @ scale facter of ‘2.
The dilation is centered at (-4, —1).

6\ s -
PN
TN
L AT A .

T - -
Stadaf iz ey R
TEAT M /a‘

- : wa
H [1

Which statement is true //““‘"‘\
L AB _BC c' BC > ., 4B _ BC
A'B' Tt ' A'B' DE

MWW

wWhich fransformation results in a figure that is similar to the original figure but has a greater area?
a} a dilafion of AGRS by a scale factor of 0.25
b} a dilation of AGRS by a scate factor of 0.5
-k a dilation of AQRS by a scate faclor of 1
fﬁo dilafion of AQRS by a scale factor of 2

In the coordlno‘re plane, segment PQ is the resuit of a dilation of segmen’r XY by a scqle factor of 1f2

\
J

x. i !
; LDy K e *f{, e ) -
j X7 \ . ..v""..--'-a. v ‘_ “’M . ’fl‘. .\. _’LE E I-I
7 i p L L
. - r._L — —i- T
IR R ia * f;{ '
Which poirit is the center of dilation? B s : o 7y -
OJ(4 0 ¥ b} {0,-4) c) {0, 4} d) [4.0)

inthe 1nc1ngles~shown AABC isdileted by a focter of 2/3 fo form AXYL.
Given that mZ4 =50 ond m/B =100° , what is the mLZ?

A\.-'\J
v x
\"; .
s R )
T Sy z
a) 15° b)25e 1M fé’}’c 3:// d) 50°
In the triangle shown, GH PDF .

What is the length of EG? .- -~ ¥
a) 2.0 b) 45/)
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CCGPS Geometry EOCT REVIEW 1 — Simifanty and Congruence

6. Use this tiangie to answer the question.

el X
This is @ proof of the statement “if a line is parallel o one side of a ticngle and intersects the other fwo
sides at distinet points, then it separates these sides into segments of proporfional lengths.”
Which reason justifies step 2¢
a) Alfernale infetior angles are congruent.

Step Justification
1 | GEisparalleito FF | Given

b] Alternate exterior angles are congruent. S | 2HGK = 17 —
Corresponding angles are congruent. LIRG = £ LI fes..
VYerfical angles are congruent. 3 | AGIK ~ AHIF AA simflasity postulate

7. Pardllelogram FGHJ was tfransiated 3 vnits down jo form parallelogram F'G'H'J . Parallelogram F 'G'H'J
"was then rotated 90° counterclockwise about point G' to obtain parallelogram F"G"H"J ™.

[
Ll
=
Sl
-y

Which statement is true akout:paralleiogram FGHJ and paraileiogram F"G"H") "2
a) The figures are both similar and congruent.

b} The figures are neither similor nor congruent.

<) The figures are simitar but not congruent.
/d,%)The figures are congruent but not similar.

¥ [2]
;4 - ﬁ
1 £ -

Which can be used o prove the triangles congruent?

S

8. Consider the triangles shown,

a) 888 b} ASA c) SAS {od) AAE)
E— s .
9. Inthis diagram, DE = JTond /D= /. . oA 4
E r £ 3

G/\ :*’t ‘.:\\‘ o ?‘-A "-\..: ~

Which additional mforr“c:h prove Tha’r ADEF is congruent to AJIH?
al EF%JZL DH IF C}HC?\GI d} HF JF

10. In this diagram, STU is an isosceles Tnongle where ST'is congruent to UT. The: paragroph proof shows
that £S5'is congruent to ZU.

It is given that ST is congruent to LT, braw TV that bisects ~T. By the definition of an angle bisector, STV is

| congruent fo LUTV. By the Rehexive Propery, 1V is congruent to TV . VSTV is congrvent to VUTV by SAS. ZSis
congwentio £/ by 7

,»—a’)"m b) Reflexive Property of = ¢ Def. of Right angles  d} £ Congruence Postulate
L____.,_

v,



Analytic Geometry

UNIT 2: Use the following to review for you test. Work the Practice Problems on a separate sheet of paper.

What you need

Things to remember

L

to know & be
able to do
1. Dilate with k = %. 2- Dilate with k=2.
v I
Y S
When the center of dilation . -_.*_ __;':.:'
is the origin, you can RN "-r
A. Perform a muliiply each coordinate of [Zon o : \ bl :.1--—"‘ BN
dji " ih the original figure, or pre- g L LA 3 SN 0 I U W A T8
ration with 4 image, by the scale factor ™ S AR ] ¥ 4 '
given scale factor |, 5,4 the coordinates of I~ - \ o
the dilated figure, or 2
image. = -;4.
B. Find the Set up a proportion by 3. 4 4.
missing side for ~ § matching up the -
similar figures. corresponding sides. Then,
solve for x.
5
P
3 E 12.8 D
6.
X
2

C. Determine if 2
riangles are
similar, and write
the similarity
statement.

Remember the 3 ways that
you can do this: AA, SAS,
888




Analytic Geometry

\

9. Find sin A. “'7
10. Fnd tan B.
R
HERT A R -
D. Find s, cos, | Just find the fraction 8 5 -
and tan ratios using SOHCAHTOA ! 11 FindcosB.
12. Find tan A. omy
C gy B Z/’ £ mﬂ} i
E. Know th 13. Given Right AABC and sinf =5/13, find
- SNow the siné = cos(90-6) sin(90—8) and cos(90—&). - .
relationship . A o
between the ratios | €0s& =sin(90—&) ST S '
for p 1 / Y
——— .-\:""' ’ [ . ",.I' i
complementary tan(90_6) oo
angles.
Set up the ratio and then -
use your calculator. 14. Find .
F. Use frig to find
a missing side If the variable is on the top,
measure multiply. s
If the variable is on the 7
bottom, divide. o
. < Fa P e 17. Find s.
16. Find p. bz
G. Use trig to Set up the ratio and then p° [ ¢ .
find a missing use the 2nd button on your 13 g{ <: fhe, T
angle measure calculator. 40 T

Unit 2 — Right Triangle Trigonometry

Sin9=% Cosh=2

STANDARD: TRIGONOMETRIC RATIOS

s+ Trig Ratios—

A 0
Tan O =
H A

]

Inverse Trig Ratios — Only used when

finding the angle measure of a right

) a Y
tnan_gle.mg___g > 9 =sin 15

a o
cosf = = e B = gos L2
H "

[ _t D
tanf == ———% 6 =tun 1;

é.



Analytic Geometry

EN

43. What does it mean for two angles to be
complementary?  # L g
Lave 7

44. Angle | and angle K are complementary
angles in a right triangle. The value of

tan/is 1—851. What is the value of sin J?

- ; , \| . ".-:,.‘-u f/ ; - : \:.“
. Cos .‘! I.-\,'..
L A {

Ck b - — T

45. Triangle RST is a right triangle with
right angle S, as shown. What is the
area of triangle R5T?

[ /L_‘. —_— R

&in,

49, tn right triangle ABC, if ZAand £ B

. 6
are the acute angles, and sin B = ot

e ; /s }’/-_,/'.

what is cos A?

50. Find the measure of angle x. Round
your answer to the nearest degree.

51. Salve forx.

249

12

. 19 .
. You are given thattan B = o What is

the measure of angle B?

—

456, A road ascen:ds a hill at an angle of 6°.
For every 120 feet of road, how many
feet does the road ascend?

47. Given triangle ABC, what is sin A?

53. A ladder is leaning against a house so
that the top of the ladder is 18 feet
above the ground. The angle with the
ground is 47°. How far is the base of
the ladder from the house?

Unit 3 — Circles and Spheres

i A
10
&
¢ B

48. In aright triangle, if cos A = Ig'i' whatis

sinA?

STANDARD: CIRCLES
e Area-—7r?
«  Circumference - 2nr

* Parts of a Circle -




CCGPS Geometry FEOCT REVIEW 2 — Right Triangie Trig

Name: Date:

MULTIPLE CHOICE PRACTICE

n right triangle ABC, angle A andangle B are complementary ongles The value of cos A is 5/13.
What is the value of sin B¢ =

- 2)

< -7
P . R L
""':3) 5}13 ) b) 12/13 cj 13/12 d)13/5 )
Th"aﬁ@’é’ ARC s given below. .
S .
What is the value of cos A% Ty
a) 3/5 b)3/4 c)4/5 dj 5/3

3) Inright fiangle HIK, £J is aright mangle cmd Tcm ZH 1 Whuch statement aboui tiangle HJK must

be true? s T N ol 75 e i

i . . - s ;, . : ‘ N . . .I/ '\/'.
/M (o ive! jic ° ?’ ST £ P

aysin/ZH =1/2 b)sin LH =1 ""c) sinLH=cosZH disn ZH =1/ cos LH
4) A 12 foot ladder 1s leaning against a building ot a 75° angle with the ground.

Which can be used 1o find how high the ladder reaches up the side of the building?

. i2 12 :
a) sin75°=— b) tan75° == . 12 H. «
x : x
c) cosT50 = d) sin75°=" ™
' 12 : S | } -
e —— e _ . - [

5} A hot air balloon is 1200 feet above the ground. The angle of depression from the basket of the hoi-

air balloon fo the base of a monument is 54°.

Which equation can be used o find the distance, d, in feet, from the basket of the hotair balioon to
the base of the monumente _———-n

Q) sin34° = ~—d—— . b) sinf4°=—— 7 )} c0os54°=—— d} cos54°=——
1 : d 1 d




CCGPS Geometry EOCT REVIEW 2 — Right Triangle Trig

4} Quadrilateral LAATP Is an isosceles trapezoid. DR o
T P M 3 r Fert e T
- AN gE
JIE ) i =?”.’;(_
15° 459 _ -
L e PR T
a) 10 eyt g c) 542418 d) 5+6v2

71 Bianca uses an angie~measﬁ;rri'ﬁg device on a 3-foot fripod fo find the height, h, of a weather ballcon
above ground level, as shown in this diagram.

\Weaﬂmr _ A
balloon . yy ) e—
j T e A ' /('f K 'ff'fﬂ T j Tr5
LA
k r #, - / -

Tripod % - ;’/'}- d/_’f Y ed L

447 .
3fL

Py
Grenmd level

ot dewn 1o scale

The ballocn is at a 40° angle of elevation. A radio signal from the balloen tells Bianca that the
distance between the fipod and the balloon is 25,000 feet.

Which expression represents the height, h, of the bailoon above ground levele

a) 25,000 sin40°—3 b} 2500005 40°+3 )
25,000 =R 000

c) = — d) = +3
sin 40° sin 40°

8) Use this diagram of a cone to answer the quesiion.

e

§ 4 - w
/; - A___‘_: o
“ S
The base of the conre has a radius of 6 cm. Which exp e;’ési.on renresents the slant height, in
centimeters, of the cone? L
//,_-"' j /Z.:./\' \\
g 6 6
a) 6ecos70° b} 6ecost10® ,.-/ c) d) ———
| | cos70° y cos110°
. _-..—\—"'"‘—-’((



_"..:)

CCGPS Geometry EOCT REVIEW 3 - Circles and Volume

Name: Date:
Free Response: i e e, ;
1} «PNQis inscribed in-circle O and mIfQ:?O". S T
LT peccrien
f - "/. oo }jﬂfd o
L 7 RS
a) What is the measure of £Pog2 777 TS
b) What is the measure of 2png?2 7 7 ° |
2) Incircle P below, 4Bis a diameter.
[T ms4PC =100°, find ’rhe followmg s
a) msBPC 7 T T
b) meBaC - o T
&) mil
d) mdC 7 p e
3} Incircle P below, DGis a tangent. AF =8, EF = 6, BF = 4, and EG =8. .
/“ fuoem o a N . c ".(. 4 ;T . - LI ‘s
, | -~ 7

Find CF and DG <

4) Inthis-circle, 4Bis tangentto the circle at point B, ACis Jmngen’r to the circle at point
C. and point DHies on the circle. What !SmLBACB S e s

Ed Fo
s -
- - - .
) R - ot
. .-" -".I
A 'i .
e —
il . =
e
PRENEE
>



CCGPS Geometry ' EOCT REVIEW 3 - Circles ond Yolume

é) What is the volume of the cone shown below? T }E?
e_,.' _I s - .
v b - Pl ' i ,
I ¢ ‘ ! _ L
i'..\ - -
L j-:{ﬂ“ - : Co e .. B . .l -.-_\h_

8) A cylinder has o radius of 10 cm and a height of ¢ cm. A cone has a radius of 10 cm.
and a height of ¢ cm. Show fho’r 1he volume of the cyl:nder s ’rhree hmes ’rhe voiume -

ofthe cone. e b R TR P
T i E . B . f . r.}.:\ /.,. N 'f‘ . . i ;
-._;"‘ - ( : S A '3 .
g . - _ B -. I_‘ i I.l"- . ,_'. L2 _

Multiple Choice:
9) Guadrateral WXYZ is inscribed in this circle.

- Which statement must be true®

c) LW and Y are comp}emen’rary

— PR G

-

b) «W and /_fYore supplemen’foryx\

c) ZZ ond AY are complementary.

d) «zZand zY are supplementary.

10)Poinis A, B, D and Elie on the circle.
Point C is outside the circle. o

AE=DE, mBD =56 & mLEAC =84 / '

WhGL_S%‘he measure-of ZACE ¢
3 0) 28° Y b} 42°
C 560 d) 84° 7 B . .. . i b
) ) K3 il o

11} A circular pizza with a diameter of 15 inches is cutinto 8 equal slices. What is the
area of one slice? _ o .

a) 5.95q.in. SR e
d) 120sqg.in. ’ MNP

1/



Analytic Geometry

58. If two tangents of OX meet

* Properties of Tangent Lines — at the externat point Z, find . 5
o Tangent and a radius form a their congruent length. X
right angle S e
o You can use Pythagorean RO e 37-2x
Theorem to find the side R
fengths oo s Ay
o Two tangents from a common g ' RN
external point are congruent 59. The measure of CD is 64“ What is the
e Central Angles —mdngle == mArc measure of ZBDC?‘
A ) ; PR
* Inscribed Angles —mAngle = m:rc
- - ’ hl
=  Angles Qutside the Circle —
far arc — near arc
angle x = 7 :
e Intersecting Chords — £0. Is?sce?les triangle ABC is inscribed in
arc A + arc B this circle. AB = BC and
anglex = ————— mAB = 108°. What is
the imeasure of ZABC?
- SLe .'; :
54, What is the value of x in this diagram? j ', T
Ly 7= Vol 0T e
AN N
g 61. In this diagram, segmeiit QT is tangent
39'- . .
- e X to circle P at point oy
{/J S Y T. The measure of '

minor arc 5T is

< 70° What is
55 leen OT with the inscribed _TOP? .
quadrilateral, find the value of each mLTQE - g
__ variable. . {
‘ _: \i L If;\ {.. ‘; ” e i
= I} I\v - _J.u
56. AB is tangent to (OC at point B. AC STANDARD: SPHERES

measures 12 inches and AB measures 7

inches. What is the radius of the cigle? 5 e Surface Area= 4ur?

Jor oL o Lo - A
. v n . 12 =% 3
, S . Volumengnr
{;’\i ..L- g - 1} "“? ui-"""-
i e ;
o -J
57. Given OQ the mABC = 54° and the 62. A sphere has a radius of 8 crn. What is
mAQC = (2x + 6)° find the value of the surface area? Answer in both
X A decimal and exact n-form. L e
- - - . oy FIRT .?:. _ * -’ ‘\ ,-_f , ar s
¢ - . . .
R Y ]




Analytic Geometry

63. When comparing two
different sized bouncy balis,
by how rauch more is the
volume of the larger ball if
its radius is 3 times larger
than the smaller ball?

il ;
r. ‘,/ R EN L
[CE R L

o,

64. Find the volume of the following
figures.

I A
H 11
L
T a0
g7
- |
1
.
i
e
£ k
"Vr.- " .
) & one
- f.
,.:f:-
F

’ f i ." - ~|? B ilr: IE\

R
L
— a7
g P
i 7 #
i g . s
B " e

F2



Analytic Geometry

Unit 4 Key Notes: Rational Numbers:
= Combine like terms when adding and Can be expressed as the quolient of two integers {i.e.
subtraciing polynomials a fraction} with a denominator that is not zero.
« Use the diskibulive properfy when mulfiplying Many people are surprised to know that a repeating
polynomiols .decimalis ¢ raticnal numbaer,

+  Perimefer: Add up all the sides
«  Area: length®*width
»  Volume: Bh (remember B=orea of the base)

Examples: -5, 0, 7, 3/2, 0.26

» J§ is rational - you can simplify the square

- g' ry ci%i=- , . R R .
Imaginary Numbers: j == -1 root to 3 which is the quotient of the infegers 3

» then-Txt=4,

and 1.
« thentixi=1,
s then1xi=i{backtoiagaini) .
Laws of Exponents _
i=¥-1 R=-1 PB=A+1 #=1 =41 1L MuolGpliation BB S adid exponents
| PoweroFapewee - r=i y
» The complex conjugate of a +bi Is a-bi, and o ‘??ﬁér.df'a_t_ product (b =4 “mtltiply-exponents
sirilarly the complex conjugate of a—-bi is R : oo
+ bi. This consists of changing the sign of the w
imagginary part of o complex number. The real Wb Eha g 3
part is left unchanged. of v Pivision. i R o
» lrrafional Numbers: ‘ -or, alfernatively,. . - subtract exponents”
« Can't be expressed as the quotient of two =) =_;3_,: 1
infegers [i.e. a fraction} such that the ; b
denominator is not zero.
« Examples: ﬁx/g?r
Unit 4 Test Review
Add or Subtract: i TR
1. (5X2 =8x—6)+[7Tx? = 9% = 3) 2. (3x*+5x—9)—(6x* +5x-11)
I — D -
LR S ' T e nf e 3
D P i T 2 S+
Multiply: .
2 L L b EE R ’
3. 7x*(9xy® —8z'y + 4y°) 4. (x—4) CX=dd e
- AR s @ . e
VAV A B AV N AR — i
5. {x-6)(x+7)
~ "" L :,, ;.
e h;L "X .

/. Give ihe perimeter of the deck shown below.
X+ 4 . L
Lo

- an

LY T A




Analyfic Geometry

.

- - L P
o
o

':/}— ! -"f_'{-: :fl',' i

8. Find the area of the figures ' ..-: 3 j A 7y

T

G s A2 - X

'(%f ¥ o) . t‘_f{ oA Oy 2+6 v .
9. Find the area of the white space. () = X e

(X + 3} . - \ i Va .
10. Find the volume of the rectangular prism. ;{ -4 1:\ S0 i ( N { }

X +3

a

AT T e it e e

: *'{.-.:'. ; S . ‘_)
T s {;g’ he k-."-, (-;-:‘t?:'wj -f-"‘/ LI

c)

Review:
11. Find the volume of each figure below.
a}

X
{

-

-

!
. W

i
-~







